TR25FEERBATHEELRES T BETHIRNZREE (BEfL: M)
MEHE REFERERE BIEERESR # R
= & I A 12,164,923 11,927,288 237,635
F M & R A 12,840,250 17,369,073 A 4528823
BERBHBSIA 45,813,163 47,966,600 A 2,153,437
B OB & IR A 12,000 1,050,057 A 1,038,057
Z O £ I A 38,106,785 39,962,024 A 1,855,239
= ¥ I A 3,621,350 4,022,147 A 400,797
5 HREHSE S SIA 7,780,000 6,400,000 1,380,000
BB A 257,420,811 266,650,873 A 9,230,062
2 BEASLEAEH —E RURA 11,533,760 11,835,623 A 301,863
B OE B I A 45,708,000 45,357,420 350,580
3E FLABIEZH9F FAULA 8,616,573 10,168,354 A 1,551,781
ol A 5571,216 1,374,491 4,196,725
) Bl & R A 22,279,530 9,586,970 12,692,560
EE# S SRS I ARE 264,686 41,490 223,196
iz EEFHIRAG (1) 471,733,047 473,712,410 A 1,979,363
¥ A BB XU 346,023,538 347,694,588 A 1,671,050
= B B X W 8,216,138 7,101,716 1,114,422
1)) = ¥ B X oW 55,599,464 56,121,337 A 521,873
HEBEERSEELE 7,780,000 6,400,000 1,380,000
B B OB & X W 10,038,100 10,151,202 A 113,102
g8 # £ X H 10,000 10,000 0
WO E N B 2,605,766 2,162,941 442,825
) B 0 1,635,000 A 1,635,000
Bl 4 £ & A 26,591,300 14,363,450 12,227,850
EETEXHE(2) 456,864,306 445,640,234 11,224,072
BREEBNIELH(3)=(1)-(2) 14,868,741 28,072,176 A 13,203,435
WERE REERELE MIEERES B R
ZEF RE L & UNA 114,338 106,113 8,225
i Iy | SEHEMERMRASIRA 4,683,788 4584316 99,472
g Al #ERSBBASERA 17,545,861 19,720,266 A 2,174,405
1 EETESMURAGT(4) 22,343,987 24,410,695 A 2,066,708
”;; ¥ | RERSMBEASIH 17,545,861 19,720,266 A 2,174,405
g?; i EXFHINZHE(B) 17,545,861 19,720,266 A 2,174,405
i BERFRNNZEE(6)=(4)-(5) 4,798,126 4,690,429 107,697
BERZZE(7)=(3)+(6) 19,666,867 32,762,605| A 13,095,738]
HERE REEREL BIEERESR # R
MRS HBSIRA 2,917,425 0 2,917,425
5 ;I% MR EZ T EULA 597,000 501,000 96,000
Al AR AGT(8) 3,514,425 501,000 3,013,425
”é + B2 & A s 18 R U AL4 18 (S RIE ) 7 40311 A 40,304
o |y EERMEEEREISRALE 2,887,500 0 2,887,500
# $RISZHE (9) 2,887,507 40,311 2,847,196
HRIREZEEE(10)=(8)-(9) 626,918 460,689 166,229
LHEEIUN R ZEFE(11)=(7)+(10) 20,293,785 33,223,294 A 12,929,509
53 ATEARIR BB BN L =4 (12) 70,038,967 33,737,410 36,301,557
TZ;J LEA RGBT BN =2 (13)=(11)+(12) 90,332,752 66,960,704 23,372,048
% E A2 I B E (4 0 0 0
”; X &8 A%8m (15) 0 0 0
z FDMDOIEILENERZE(16) 2,010,540 8,337,679 A 6,327,139
5)5 ZOMDIEIETEITEE(17) 1,557,000 5,259,416 A 3702416
8 | REBIERNE 2R (18) =(18)+(14)-(15)+(16)-(17) 90,786,292 70,038,967 20,747,325




